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WRITTEN PRACTICE ANSWERS

1 $3.45; sample: I used 
rounding; $5 + $2 = $7, 
$10 – $7 = $3.

2 207 pages 

3 n − 634 = 26; 660 miles 
long

4 9

5 75 inches

6 ; 66   2 __ 
3
  %

7 679,542,500

8 $0.12

9 12 R 10

10 12 R 20

11 28,782

12 $97.50

13 476,556

14 40 mm

15 320,000

16 30,000

17 81,000

18 1200

19 4000

20 20

21 11  9 ___ 
11

 

22   2 __ 
3
 

23 7   1 __ 
3
 

24 $4300

25 2773 fans

26 (1 × 1,000,000) + (2 × 
100,000)

27 Check figure for at least 
two sides of equal length.

 Sample 

28 2 dimes

29 6 in.
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WRITTEN PRACTICE ANSWERS

30 Sample: 35 is a reasonable 
estimate because 689 is 
close to 700, 19 is close to 
20, and 700 ÷ 20 = 35.

Early Finishers:

  52 × 6 = 312; 673 × 312 = 

209,976 people
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